Opérations avec deux fractions mixtes (B)

Nom:

—

W

o

10.

Date:

Calculez chaque résultat.
5%><11—33——><—= — = — = —
S53-3; =—-—= — =-—=
53415 = —+—= — =-—-=
5= —1- = — —— = — = — =
5§+51—70=———= X = = —
Se4ly = —4+—= — =-—= —
5-—2- = — —— = — = — = —
32457 = —t— = —x— = — = —
3%+5§ = —+— = X = = —
I5X50 = —x—= — =-—= —

Note:
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Opérations avec deux fractions mixtes (B) Réponses

Nom:

—

W

o

10.

SZx1i=£X1_6
8 13 3 13
5%—3% :E_1_30
5%+1§ - 1_36+§
5- —1= = %_%
5§+51—70=%+i_3
5%+1% — 3_61+%
5= — 2= :%_%9
3%+5§ — %+4§5
1§><Sg — gx4_71

Date:

Calculez chaque résultat.

_ o2 %
104 13
_ 6 _ 2
- 3 1
o217
B 3 1
B 8 4
B 2 1
_ 28,10 _ 280 _
5 757 285
I N
— - = 5 =
26 13
— - = 5 =
15 4 60
= — X — = — =
4 23 92
_ 7,8 _ 36 _
2745 90
287 _ 4l _
-3 5

3
7
13

56
57

15
23

28
45
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